

Lead • Partner • Innovate • Excel

September 11, 2023

To: Vendors for Tires IFB 23-08-001

RE: Bid Results

The following bid analysis sheets show the prices that were bid for Tires for Madison-Oneida BOCES and its participating districts. This bid was awarded on a category basis as highlighted in green. Items in red have been disqualified.

This bid was approved by the Madison-Oneida BOCES Board of Education at their regular monthly meeting on September 7, 2023.

This letter does not constitute an order. Receipt of a valid school district purchase order will be notification of an order.

Thank you for your continued support and participation in our bidding program.

Sincerely,

Madison-Oneida BOCES Cooperative Bidding Service

Chui Spratie

Bids Were Received From The Following Vendors For Tires IFB 23-08-001:

McCarthy Tire Service

Attention: Peter Row 972 E. Main Street Cobleskill, NY 12043 Phone: 518-234-3586

Fax: NA

Email: cobleskill25orders@mccarthytire.com

Website: www.mccarthytire.com

Details: Please Reference Madison-Oneida BOCES IFB 23-08-001 on Purchase Order

Delivers to: All Districts

Parmenter Inc.

Attention: Dale Welty 103 Railroad Street Odessa, NY 14869 Phone: 607-594-7106 Fax: 607-594-7101

Email: dwelty@parmenterinc.com Website: www.parmenterinc.com

Details: Please Reference Madison-Oneida BOCES IFB 23-08-001 on Purchase Order Delivers to: Camden, Canastota, Hamilton, Madison, MOBOCES, Morrisville-Eaton, Oneida,

OHMBOCES, Rome, Stockbridge Valley, Utica, VVS, Waterville, Westmoreland, Whitesboro

Pat's Tire Service, Inc.

Attention: Larry Casalenuovo

501 Erie Boulevard W. Rome, NY 13440 Phone: 315-337-4100 Fax: 315-339-4156

Email: info@patstireservice.com Website: www.patstireservice.com

Details: Please Reference Madison-Oneida BOCES IFB 23-08-001 on Purchase Order

Delivers to: All Districts

Tallmadge Tire

Attention: Scott Plyter 1285 St Route 318 Waterloo, NY 13165 Phone: 315-539-1168 Fax: 315-539-4804

Emailtallmadgetire@yahoo.com

Website: NA

Details: Please Reference Madison-Oneida BOCES IFB 23-08-001 on Purchase Order

Delivers to: All Districts

NDD = Next Day Delivery 7DD = 7 Day Delivery 4HD = 4-Hour Delivery MR = Monthly Restock

Tires IFB 23-08-001 Opened August 1, 2023 at 3:00 PM Summary - Category Award Contract Effective 10/01/2023 - 09/30/2024

Category	Vendor	Items in Category	Items Bid	Percentage	Total	
Tires, New , Firestone or	Pat's Tire Service, Inc.	10	10	100.00%	\$39,024.00	
Equivalent, 7DD	Tallmadge Tire	10	10	100.00%	\$44,097.78	
	Parmenter, Inc.	10	10	100.00%	\$47,837.54	
	McCarthy Tire	10	3	30.00%	\$45,737.48	*did not meet 75% threshold
Tires, New, Firestone, 7DD	Pat's Tire Service, Inc.	11	11	100.00%	\$30,516.00	
	McCarthy Tire	11	11	100.00%	\$34,334.72	
	Tallmadge Tire	11	11	100.00%	\$35,756.30	
	Parmenter, Inc.	11	6	54.55%	\$32,730.00	*did not meet 75% threshold
Tires, New, Goodyear,	Pat's Tire Service, Inc.	10	10	100.00%	\$21,246.00	
7DD	Tallmadge Tire	10	10	100.00%	\$27,967.96	
	Parmenter, Inc.	10	1	10.00%	\$29,305.56	*did not meet 75% threshold
Tires, New, Michelin, 7DD	Parmenter, Inc.	3	3	100.00%	\$3,184.20	1
	Tallmadge Tire	3	3	100.00%	\$3,378.80	
	Pat's Tire Service, Inc.	3	1	33.33%	\$3,158.80	*did not meet 75% threshold
Tires, Recaps, Goodyear	Pat's Tire Service, Inc.	5	5	100.00%	\$40,120.00	1
Only, 7DD	Tallmadge Tire	5	5	100.00%	\$50,869.56	
	Parmenter, Inc.	5	1	20.00%	\$54,470.06	*did not meet 75% threshold
Tires, Recaps, Goodyear	Pat's Tire Service, Inc.	5	5	100.00%	\$5,090.00	
or Equivalent, 7DD	Parmenter, Inc.	5	5	100.00%	\$7,812.76	
	Tallmadge Tire	5	5	100.00%	\$8,006.00	

Pat's Tire Service, Inc.

Item #	Category	Product Code	Item Specification	Quantity	Unit	Manufacturer	Manufacturer #	Vendor Item	Package Size	Price Bid	Extension
38707	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 225/75R16 LR E Transforce HT, Include Pick- Up/Delivery	16	Each	firestone	77	#	1	\$125.00	\$2,000.00
38708	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 245/75R16 LR E Transforce HT, Include Pick- Up/Delivery	4	Each	firestone			1	\$115.00	\$460.00
38709	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Traction, 225/75R16 LR E Transforce AT, Include Pick- Up/Delivery	32	Each	firestone			1	\$127.00	\$4,064.00
38710	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Traction, 245/75R16 LR E Transforce AT, Include Pick- Up/Delivery	10	Each	firestone			1	\$136.00	\$1,360.00
38711	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 10R22.5 FS561, Include Pick- Up/Delivery/Mount/Dismount	32	Each	firestone			1	\$345.00	\$11,040.00
38713	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 11R22.5 FS561, Include Pick- Up/Delivery/Mount/Dismount	30	Each	firestone			1	\$365.00	\$10,950.00
38714	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 225/70R19.5 FS561, Include Pick- up/DeliveryMount/Dismount	10	Each	firestone			1	\$297.00	\$2,970.00
38715	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 255/70R22.5 FS560, Include Pick- up/Delivery/Mount/Dismount	6	Each	firestone			1	\$320.00	\$1,920.00
38716	Tires, New, Firestone or Equivalent, 7DD		Rim Reconditioning/Pick up/Sand blast/prime/repaint black/new valve stem installed/deliver	80	Each	pats			1	\$30.00	\$2,400.00
38722	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Traction, 245/75R17LR E Transforce AT, Includes Pick- Up/Delivery/Dismount/Mount	12	Each	firestone			1	\$155.00	\$1,860.00

\$39,024.00

Tallmadge Tire

Item #	Category	Product Code	Item Specification	Quantity	Unit	Manufacturer	Manufacturer #	Vendor Item #	Package Size	Price Bid	Extension
38707	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 225/75R16 LR E Transforce HT, Include Pick- Up/Delivery	16	Each	FIRESTONE	002760	002760	1	\$125.69	\$2,011.04
38708	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 245/75R16 LR E Transforce HT, Include Pick- Up/Delivery	4	Each	FIRESTONE	002761	002761	1	\$115.75	\$463.00
38709	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Traction, 225/75R16 LR E Transforce AT, Include Pick- Up/Delivery	32	Each	FIRESTONE	000180	000180	1	\$127.05	\$4,065.60
38710	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Traction, 245/75R16 LR E Transforce AT, Include Pick- Up/Delivery	10	Each	FIRESTONE	000181	000181	1	\$136.68	\$1,366.80
38711	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 10R22.5 FS561, Include Pick- Up/Delivery/Mount/Dismount	32	Each	FIRESTONE	012714	012714	1	\$396.70	\$12,694.40
38713	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 11R22.5 FS561, Include Pick- Up/Delivery/Mount/Dismount	30	Each	FIRESTONE	012710	012710	1	\$416.70	\$12,501.00
38714	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 225/70R19.5 FS561, Include Pick- up/DeliveryMount/Dismount	10	Each	FIRESTONE	248426	248426	1	\$349.29	\$3,492.90
38715	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 255/70R22.5 FS560, Include Pick- up/Delivery/Mount/Dismount	6	Each	FIRESTONE	192982	192982	1	\$371.70	\$2,230.20
38716	Tires, New, Firestone or Equivalent, 7DD		Rim Reconditioning/Pick up/Sand blast/prime/repaint black/new valve stem installed/deliver	80	Each	N/A	WR101		1	\$41.00	\$3,280.00
38722	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Traction, 245/75R17LR E Transforce AT, Includes Pick- Up/Delivery/Dismount/Mount	12	Each	FIRESTONE	000184	000184	1	\$166.07	\$1,992.84

Parmenter, Inc.

Item #	Category	Product Code	Item Specification	Quantity	Unit	Manufacturer	Manufacturer #	Vendor Item #	Package Size	Price Bid	Extension
38707	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 225/75R16 LR E Transforce HT, Include Pick- Up/Delivery	16	Each	Firestone transforce HT2	2760	2760	1	\$159.92	\$2,558.72
38708	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 245/75R16 LR E Transforce HT, Include Pick- Up/Delivery	4	Each	Firestone Transforce HT2	2761	2761	1	\$144.71	\$578.84
38709	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Traction, 225/75R16 LR E Transforce AT, Include Pick- Up/Delivery	32	Each	Firestone Transforce A/T2	180	180	1	\$158.37	\$5,067.84
38710	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Traction, 245/75R16 LR E Transforce AT, Include Pick- Up/Delivery	10	Each	Firestone Transforce A/T2	181	181	1	\$161.68	\$1,616.80
38711	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 10R22.5 FS561, Include Pick- Up/Delivery/Mount/Dismount	32	Each	Hankook AH 37	3002448	3002448	1	\$394.86	\$12,635.52
38713	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 11R22.5 FS561, Include Pick- Up/Delivery/Mount/Dismount	30	Each	Hankook AH 37	3002163	3002163	1	\$421.69	\$12,650.70
38714	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 225/70R19.5 FS561, Include Pick- up/DeliveryMount/Dismount	10	Each	Continental HS3	512585	512585	1	\$366.58	\$3,665.80
38715	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 255/70R22.5 FS560, Include Pick- up/Delivery/Mount/Dismount	6	Each	Hankook AH 37	3002450	3002450	1	\$350.58	\$2,103.48
38716	Tires, New, Firestone or Equivalent, 7DD		Rim Reconditioning/Pick up/Sand blast/prime/repaint black/new valve stem installed/deliver	80	Each	prime rim recon	88116rcn	88116rcn	1	\$59.95	\$4,796.00
38722	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Traction, 245/75R17LR E Transforce AT, Includes Pick- Up/Delivery/Dismount/Mount	12	Each	Firestome transforce a/t2	184	184	1	\$180.32	\$2,163.84

\$47,837.54

McCarthy Tire

Item #	Category	Product Code	Item Specification	Quantity	Unit	Manufacturer	Manufacturer #	Vendor Item #	Package Size	Price Bid	Extension
38707	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 225/75R16 LR E Transforce HT, Include Pick- Up/Delivery	16	Each					\$159.92	\$2,558.72
38708	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 245/75R16 LR E Transforce HT, Include Pick- Up/Delivery	4	Each					\$144.71	\$578.84
38709	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Traction, 225/75R16 LR E Transforce AT, Include Pick- Up/Delivery	32	Each					\$158.37	\$5,067.84
38710	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Traction, 245/75R16 LR E Transforce AT, Include Pick- Up/Delivery	10	Each					\$161.68	\$1,616.80
38711	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 10R22.5 FS561, Include Pick- Up/Delivery/Mount/Dismount	32	Each					\$396.70	\$12,694.40
38713	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 11R22.5 FS561, Include Pick- Up/Delivery/Mount/Dismount	30	Each					\$421.69	\$12,650.70
38714	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 225/70R19.5 FS561, Include Pick- up/DeliveryMount/Dismount	10	Each	Firestone	248426	248426	1	\$302.59	\$3,025.90
38715	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Steer, 255/70R22.5 FS560, Include Pick- up/Delivery/Mount/Dismount	6	Each	Firestone	192982	48966	1	\$376.74	\$2,260.44
38716	Tires, New, Firestone or Equivalent, 7DD		Rim Reconditioning/Pick up/Sand blast/prime/repaint black/new valve stem installed/deliver	80	Each	McCarthy	YY186200	979	1	\$39.00	\$3,120.00
38722	Tires, New, Firestone or Equivalent, 7DD		Tire, New, Traction, 245/75R17LR E Transforce AT, Includes Pick- Up/Delivery/Dismount/Mount	12	Each					\$180.32	\$2,163.84

Pat's Tire Service, Inc.

Item#	Category	Product Code	Item Specification	Quantity	Unit	Manufacturer	Manufacturer #	Vendor Item #	Package Size	Price Bid	Extension
38679	Tires, New, Firestone, 7DD	2760	Tire, New, Steer, 225/75R16 LR E Transforce HTII, Include Pick- Up/Delivery/Dismount/Mount, Transforce HTII Only	10	Each	firestone			1	\$125.00	\$1,250.00
38680	Tires, New, Firestone, 7DD	2761	Tire, New, Steer, 245/75R16 LR E Transforce HTII, Include Pick- Up/Delivery/Dismount/Mount, Transforce HTII Only	4	Each	firestone			1	\$115.00	\$460.00
38681	Tires, New, Firestone, 7DD	180	Tire, New, Traction, 225/75R16 LR E Transforce ATII, Include Pick- Up/Delivery/Dismount/Mount, Transforce ATI IOnly	20	Each	firestone			1	\$127.00	\$2,540.00
38682	Tires, New, Firestone, 7DD	181	Tire, New, Traction, 245/75R16 LR E Transforce ATII, Include Pick- Up/Delivery/Dismount/Mount, Transforce ATII Only	4	Each	firestone			1	\$136.00	\$544.00
38696	Tires, New, Firestone, 7DD	012714	Tire, New, Steer, 10R22.5 FS561A, Include Pick- Up/Delivery/Mount/Dismount, Firestone Only	24	Each	firestone			1	\$345.00	\$8,280.00
38697	Tires, New, Firestone, 7DD	012709	Tire, New, Steer, 11R22.5 FS561A, Include Pick- Up/Delivery/Mount/Dismount, Firestone Only	24	Each	firestone			1	\$365.00	\$8,760.00
38698	Tires, New, Firestone, 7DD	248-426	Tire, New, Steer, 225/70R19.5 FS561, Include Pick- up/DeliveryMount/Dismount, Firestone Only	4	Each	firestone			1	\$297.00	\$1,188.00
38699	Tires, New, Firestone, 7DD	192-982	Tire, New, Steer, 255/70R22.5 FS560, Include Pick- up/Delivery/Mount/Dismount, Firestone Only	4	Each	firestone			1	\$320.00	\$1,280.00
38704	Tires, New, Firestone, 7DD		Rim Reconditioning/Pick up/Sand blast/prime/repaint black/new valve stem installed/deliver	60	Each	pats			1	\$30.00	\$1,800.00
38720	Tires, New, Firestone, 7DD	184	Tire, New, Traction, 245/75R17LR E Transforce ATII, Includes Pick- Up/Delivery/Dismount/Mount, Transforce ATII Only	10	Each	firestone			1	\$155.00	\$1,550.00
38721	Tires, New, Firestone, 7DD	000190	Tire, New, Traction, 275/65R18LR E Transforce AT II, Includes Pick- Up/Delivery/Dismount/Mount, Transforce ATII Only	16	Each	firestone			1	\$179.00	\$2,864.00

\$30,516.00

McCarthy Tire

Item#	Category	Product Code	Item Specification	Quantity	Unit	Manufacturer	Manufacturer #	Vendor Item #	Package Size	Price Bid	Extension
38679	Tires, New, Firestone, 7DD	2760	Tire, New, Steer, 225/75R16 LR E Transforce HTII, Include Pick- Up/Delivery/Dismount/Mount, Transforce HTII Only	10	Each	Firestone	2760	2760	1	\$151.62	\$1,516.20
38680	Tires, New, Firestone, 7DD	2761	Tire, New, Steer, 245/75R16 LR E Transforce HTII, Include Pick- Up/Delivery/Dismount/Mount, Transforce HTII Only	4	Each	Firestone	2761	4002761	1	\$135.93	\$543.72
38681	Tires, New, Firestone, 7DD	180	Tire, New, Traction, 225/75R16 LR E Transforce ATII, Include Pick- Up/Delivery/Dismount/Mount, Transforce ATI IOnly	20	Each	Firestone	180	180	1	\$148.01	\$2,960.20
38682	Tires, New, Firestone, 7DD	181	Tire, New, Traction, 245/75R16 LR E Transforce ATII, Include Pick- Up/Delivery/Dismount/Mount, Transforce ATII Only	4	Each	Firestone	181	181	1	\$159.32	\$637.28
38696	Tires, New, Firestone, 7DD	012714	Tire, New, Steer, 10R22.5 FS561A, Include Pick- Up/Delivery/Mount/Dismount, Firestone Only	24	Each	Firestone	12714	12714	1	\$392.53	\$9,420.72
38697	Tires, New, Firestone, 7DD	012709	Tire, New, Steer, 11R22.5 FS561A, Include Pick- Up/Delivery/Mount/Dismount, Firestone Only	24	Each	Firestone	12710	12710	1	\$390.00	\$9,360.00
38698	Tires, New, Firestone, 7DD	248-426	Tire, New, Steer, 225/70R19.5 FS561, Include Pick- up/DeliveryMount/Dismount, Firestone Only	4	Each	Firestone	248426	248426	1	\$302.59	\$1,210.36
38699	Tires, New, Firestone, 7DD	192-982	Tire, New, Steer, 255/70R22.5 FS560, Include Pick- up/Delivery/Mount/Dismount, Firestone Only	4	Each	Firestone	192982	48966	1	\$376.74	\$1,506.96
38704	Tires, New, Firestone, 7DD		Rim Reconditioning/Pick up/Sand blast/prime/repaint black/new valve stem installed/deliver	60	Each	McCarthy	YY186200	979	1	\$39.00	\$2,340.00
38720	Tires, New, Firestone, 7DD	184	Tire, New, Traction, 245/75R17LR E Transforce ATII, Includes Pick- Up/Delivery/Dismount/Mount, Transforce ATII Only	10	Each	Firestone	184	184	1	\$173.08	\$1,730.80
38721	Tires, New, Firestone, 7DD	000190	Tire, New, Traction, 275/65R18LR E Transforce AT II, Includes Pick- Up/Delivery/Dismount/Mount, Transforce ATII Only	16	Each	Firestone	190	400190	1	\$194.28	\$3,108.48

\$34,334.72

Tallmadge Tire

Item#	Category	Product Code	Item Specification	Quantity	Unit	Manufacturer	Manufacturer #	Vendor Item #	Package Size	Price Bid	Extension
38679	Tires, New, Firestone, 7DD	2760	Tire, New, Steer, 225/75R16 LR E Transforce HTII, Include Pick- Up/Delivery/Dismount/Mount, Transforce HTII Only	10	Each	FIRESTONE	002760	002760	1	\$136.44	\$1,364.40
38680	Tires, New, Firestone, 7DD	2761	Tire, New, Steer, 245/75R16 LR E Transforce HTII, Include Pick- Up/Delivery/Dismount/Mount, Transforce HTII Only	4	Each	FIRESTONE	002761	002761	1	\$126.50	\$506.00
38681	Tires, New, Firestone, 7DD	180	Tire, New, Traction, 225/75R16 LR E Transforce ATII, Include Pick- Up/Delivery/Dismount/Mount, Transforce ATI IOnly	20	Each	FIRESTONE	000180	000180	1	\$137.80	\$2,756.00
38682	Tires, New, Firestone, 7DD	181	Tire, New, Traction, 245/75R16 LR E Transforce ATII, Include Pick- Up/Delivery/Dismount/Mount, Transforce ATII Only	4	Each	FIRESTONE	000181	000181	1	\$147.43	\$589.72
38696	Tires, New, Firestone, 7DD	012714	Tire, New, Steer, 10R22.5 FS561A, Include Pick- Up/Delivery/Mount/Dismount, Firestone Only	24	Each	FIRESTONE	012714	012714	1	\$396.70	\$9,520.80
38697	Tires, New, Firestone, 7DD	012709	Tire, New, Steer, 11R22.5 FS561A, Include Pick- Up/Delivery/Mount/Dismount, Firestone Only	24	Each	FIRESTONE	012710	012710	1	\$416.70	\$10,000.80
38698	Tires, New, Firestone, 7DD	248-426	Tire, New, Steer, 225/70R19.5 FS561, Include Pick- up/DeliveryMount/Dismount, Firestone Only	4	Each	FIRESTONE	248426	248426	1	\$349.29	\$1,397.16
38699	Tires, New, Firestone, 7DD	192-982	Tire, New, Steer, 255/70R22.5 FS560, Include Pick- up/Delivery/Mount/Dismount, Firestone Only	4	Each	FIRESTONE	192982	192982	1	\$371.70	\$1,486.80
38704	Tires, New, Firestone, 7DD		Rim Reconditioning/Pick up/Sand blast/prime/repaint black/new valve stem installed/deliver	60	Each	N/A		WR101	1	\$41.00	\$2,460.00
38720	Tires, New, Firestone, 7DD	184	Tire, New, Traction, 245/75R17LR E Transforce ATII, Includes Pick- Up/Delivery/Dismount/Mount, Transforce ATII Only	10	Each	FIRESTONE	000184	000184	1	\$166.07	\$1,660.70
38721	Tires, New, Firestone, 7DD	000190	Tire, New, Traction, 275/65R18LR E Transforce AT II, Includes Pick- Up/Delivery/Dismount/Mount, Transforce ATII Only	16	Each	FIRESTONE	013988	013988	1	\$250.87	\$4,013.92

\$35,756.30

Parmenter, Inc.

Item#	Category	Product Code	Item Specification	Quantity	Unit	Manufacturer	Manufacturer #	Vendor Item #	Package Size	Price Bid	Extension
38679	Tires, New, Firestone, 7DD	2760	Tire, New, Steer, 225/75R16 LR E Transforce HTII, Include Pick- Up/Delivery/Dismount/Mount, Transforce HTII Only	10	Each	Firestone transforce HT2	2760	2760	1	\$159.95	\$1,599.50
38680	Tires, New, Firestone, 7DD	2761	Tire, New, Steer, 245/75R16 LR E Transforce HTII, Include Pick- Up/Delivery/Dismount/Mount, Transforce HTII Only	4	Each	Firestone transforce HT2	2761	2761	1	\$144.71	\$578.84
38681	Tires, New, Firestone, 7DD	180	Tire, New, Traction, 225/75R16 LR E Transforce ATII, Include Pick- Up/Delivery/Dismount/Mount, Transforce ATI IOnly	20	Each	Firestone Transforce A/T2	180	180	1	\$158.37	\$3,167.40
38682	Tires, New, Firestone, 7DD	181	Tire, New, Traction, 245/75R16 LR E Transforce ATII, Include Pick- Up/Delivery/Dismount/Mount, Transforce ATII Only	4	Each	Firestone Transforce A/T2	181	181	1	\$161.68	\$646.72
38696	Tires, New, Firestone, 7DD	012714	Tire, New, Steer, 10R22.5 FS561A, Include Pick- Up/Delivery/Mount/Dismount, Firestone Only	24	Each					\$396.70	\$9,520.80
38697	Tires, New, Firestone, 7DD	012709	Tire, New, Steer, 11R22.5 FS561A, Include Pick- Up/Delivery/Mount/Dismount, Firestone Only	24	Each					\$416.70	\$10,000.80
38698	Tires, New, Firestone, 7DD	248-426	Tire, New, Steer, 225/70R19.5 FS561, Include Pick- up/DeliveryMount/Dismount, Firestone Only	4	Each					\$349.29	\$1,397.16
38699	Tires, New, Firestone, 7DD	192-982	Tire, New, Steer, 255/70R22.5 FS560, Include Pick- up/Delivery/Mount/Dismount, Firestone Only	4	Each					\$376.74	\$1,506.96
38704	Tires, New, Firestone, 7DD		Rim Reconditioning/Pick up/Sand blast/prime/repaint black/new valve stem installed/deliver	60	Each	prime rim recon	88116RCN	88116rcn	1	\$59.95	\$3,597.00
38720	Tires, New, Firestone, 7DD	184	Tire, New, Traction, 245/75R17LR E Transforce ATII, Includes Pick- Up/Delivery/Dismount/Mount, Transforce ATII Only	10	Each	Firestone Transforce A/T2	184	184	1	\$180.32	\$1,803.20
38721	Tires, New, Firestone, 7DD	000190	Tire, New, Traction, 275/65R18LR E Transforce AT II, Includes Pick- Up/Delivery/Dismount/Mount, Transforce ATII Only	16	Each					\$250.87	\$4,013.92

\$37,832.30

Pat's Tire Service, Inc.

Item#	Category	Product Code	Item Specification	Quantity	Unit	Manufacturer	Manufacturer #	Vendor Item #	Package Size	Price Bid	Extension
38643	Tires, New, Goodyear, 7DD	138-792-737	Tire, New, 10R22.5 - Marathon RSA Include Pick- Up/Delivery/Dismount/Mount, Goodyear Only	12	Each	goodyear			1	\$357.00	\$4,284.00
38644	Tires, New, Goodyear, 7DD	138-802-674	Tire, New, 11R22.5 Endurance RSA, Include Pick- Up/Delivery/Dismount/Mount, Goodyear Only	8	Each	goodyear			1	\$459.00	\$3,672.00
38685	Tires, New, Goodyear, 7DD	139-172-053	Tire, New, Steer, 225/70R19.5 G647RS5, Include Pick- Up/Delivery/Dismount/Mount, Goodyear Only	10	Each	goodyear			1	\$285.00	\$2,850.00
38686	Tires, New, Goodyear, 7DD	131-748-875	Tire, New, Steer, LT225/75R16 Wrangler HT, Include Pick- Up/Delivery/Dismount/Mount, Goodyear Only	16	Each	goodyear			1	\$130.00	\$2,080.00
38687	Tires, New, Goodyear, 7DD	131-474-875	Tire, New, Steer, LT245/75R16 Wrangler HT, Include Pick- Up/Delivery/Dismount/Mount, Goodyear Only	16	Each	goodyear			1	\$121.00	\$1,936.00
38688	Tires, New, Goodyear, 7DD	481-748-855	Tire, New, Drive, LT225/75R16 Wrangler Workhorse AT, Include Pick Up/Delivery/Dismount/Mount, Goodyear Only	12	Each	goodyear			1	\$140.00	\$1,680.00
38700	Tires, New, Goodyear, 7DD	756-067-674	Tire, New, Steer, 255/70R22.5 Endurance RSA, Include Pick- Up/Delivery/Dismount/Mount, Goodyear Only	6	Each	goodyear			1	\$418.00	\$2,508.00
38701	Tires, New, Goodyear, 7DD	481-103-855	Tire, New, Drive, LT245/75R16 Wrangler Workhorse AT, Include Pick Up/Delivery/Dismount/Mount, Goodyear Only	12	Each	goodyear			1	\$140.00	\$1,680.00
38705	Tires, New, Goodyear, 7DD		Rim Reconditioning/Pick up/Sand blast/prime/repaint black/new valve stem installed/deliver	40	Each	pats			1	\$30.00	\$1,200.00
38723	Tires, New, Goodyear, 7DD	138-179-737	Tire, New, 11R22.5 Marathon RSA L/R H, Include Pick- Up/Delivery/Dismount/Mount, Goodyear Only	10	Each	goodyear			1	\$385.00	\$3,850.00

\$25,740.00

Tallmadge Tire

Item#	Category	Product Code	Item Specification	Quantity	Unit	Manufacturer	Manufacturer #	Vendor Item #	Package Size	Price Bid	Extension
38643	Tires, New, Goodyear, 7DD	138-792-737	Tire, New, 10R22.5 - Marathon RSA Include Pick- Up/Delivery/Dismount/Mount, Goodyear Only	12	Each	GOODYEAR	138792737		1	\$308.70	\$3,704.40
38644	Tires, New, Goodyear, 7DD	138-802-674	Tire, New, 11R22.5 Endurance RSA, Include Pick- Up/Delivery/Dismount/Mount, Goodyear Only	8	Each	GOODYEAR	138802674		1	\$510.70	\$4,085.60
38685	Tires, New, Goodyear, 7DD	139-172-053	Tire, New, Steer, 225/70R19.5 G647RS5, Include Pick- Up/Delivery/Dismount/Mount, Goodyear Only	10	Each	GOODYEAR	139172053		1	\$336.70	\$3,367.00
38686	Tires, New, Goodyear, 7DD	131-748-875	Tire, New, Steer, LT225/75R16 Wrangler HT, Include Pick- Up/Delivery/Dismount/Mount, Goodyear Only	16	Each	GOODYEAR	131748875		1	\$140.80	\$2,252.80
38687	Tires, New, Goodyear, 7DD	131-474-875	Tire, New, Steer, LT245/75R16 Wrangler HT, Include Pick- Up/Delivery/Dismount/Mount, Goodyear Only	16	Each	GOODYEAR	131474875		1	\$131.75	\$2,108.00
38688	Tires, New, Goodyear, 7DD	481-748-855	Tire, New, Drive, LT225/75R16 Wrangler Workhorse AT, Include Pick- Up/Delivery/Dismount/Mount, Goodyear Only	12	Each	GOODYEAR	481748855		1	\$151.23	\$1,814.76
38700	Tires, New, Goodyear, 7DD	756-067-674	Tire, New, Steer, 255/70R22.5 Endurance RSA, Include Pick- Up/Delivery/Dismount/Mount, Goodyear Only	6	Each	GOODYEAR	756067674		1	\$469.90	\$2,819.40
38701	Tires, New, Goodyear, 7DD	481-103-855	Tire, New, Drive, LT245/75R16 Wrangler Workhorse AT, Include Pick- Up/Delivery/Dismount/Mount, Goodyear Only	12	Each	GOODYEAR	481103855		1	\$150.75	\$1,809.00
38705	Tires, New, Goodyear, 7DD		Rim Reconditioning/Pick up/Sand blast/prime/repaint black/new valve stem installed/deliver	40	Each	N/A		WR101	1	\$41.00	\$1,640.00
38723	Tires, New, Goodyear, 7DD	138-179-737	Tire, New, 11R22.5 Marathon RSA L/R H, Include Pick- Up/Delivery/Dismount/Mount, Goodyear Only	10	Each	GOODYEAR	138179737		1	\$436.70	\$4,367.00

\$27,967.96

Parmenter, Inc.

Item#	Category	Product Code	Item Specification	Quantity	Unit	Manufacturer N	Manufacturer #	Vendor Item #	Package Size	Price Bid	Extension
38643	Tires, New, Goodyear, 7DD	138-792-737	Tire, New, 10R22.5 - Marathon RSA Include Pick- Up/Delivery/Dismount/Mount, Goodyear Only	12	Each					\$357.00	\$4,284.00
38644	Tires, New, Goodyear, 7DD	138-802-674	Tire, New, 11R22.5 Endurance RSA, Include Pick- Up/Delivery/Dismount/Mount, Goodyear Only	8	Each					\$510.70	\$4,085.60
38685	Tires, New, Goodyear, 7DD	139-172-053	Tire, New, Steer, 225/70R19.5 G647RS5, Include Pick- Up/Delivery/Dismount/Mount, Goodyear Only	10	Each					\$336.70	\$3,367.00
38686	Tires, New, Goodyear, 7DD	131-748-875	Tire, New, Steer, LT225/75R16 Wrangler HT, Include Pick- Up/Delivery/Dismount/Mount, Goodyear Only	16	Each					\$140.80	\$2,252.80
38687	Tires, New, Goodyear, 7DD	131-474-875	Tire, New, Steer, LT245/75R16 Wrangler HT, Include Pick- Up/Delivery/Dismount/Mount, Goodyear Only	16	Each					\$131.75	\$2,108.00
38688	Tires, New, Goodyear, 7DD	481-748-855	Tire, New, Drive, LT225/75R16 Wrangler Workhorse AT, Include Pick Up/Delivery/Dismount/Mount, Goodyear Only	12	Each					\$151.23	\$1,814.76
38700	Tires, New, Goodyear, 7DD	756-067-674	Tire, New, Steer, 255/70R22.5 Endurance RSA, Include Pick- Up/Delivery/Dismount/Mount, Goodyear Only	6	Each					\$469.90	\$2,819.40
38701	Tires, New, Goodyear, 7DD	481-103-855	Tire, New, Drive, LT245/75R16 Wrangler Workhorse AT, Include Pick Up/Delivery/Dismount/Mount, Goodyear Only	12	Each					\$150.75	\$1,809.00
38705	Tires, New, Goodyear, 7DD		Rim Reconditioning/Pick up/Sand blast/prime/repaint black/new valve stem installed/deliver	40	Each	prime rim recon	88116RCN	88116RCN	1	\$59.95	\$2,398.00
38723	Tires, New, Goodyear, 7DD	138-179-737	Tire, New, 11R22.5 Marathon RSA L/R H, Include Pick- Up/Delivery/Dismount/Mount, Goodyear Only	10	Each					\$436.70	\$4,367.00

\$29,305.56

Parmenter, Inc.

Item#	Category	Product Code	Item Specification	Quantity	Unit	Manufacturer	Manufacturer #	Vendor Item #	Package Size	Price Bid	Extension
38675	Tires, New, Michelin, 7DD		Tire, New, Steer 11R22.5 Michelin XZE Include Pickup/Delivery/Mount/Dismount, Michelin only	2	Each	Michelin XZE2	67042	67042	1	\$401.00	\$802.00
38676	Tires, New, Michelin, 7DD		Tire, New, Traction 11R22.5 Michelin XDE Include Pickup/Delivery/Mount/Dismount, Michelin only	2	Each	Michelin XDS2	5359	5359	1	\$591.60	\$1,183.20
38706	Tires, New, Michelin, 7DD		Rim Reconditioning/Pick up/Sand blast/prime/repaint black/new valve stem installed/deliver	20	Each	prime rim recon	88116RCN	88116rcn	1	\$59.95	\$1,199.00

\$3,184.20

Tallmadge Tire

Item#	Category	Product Code	Item Specification	Quantity	Unit	Manufacturer	Manufacturer #	Vendor Item #	Package Size	Price Bid	Extension
38675	Tires, New, Michelin, 7DD		Tire, New, Steer 11R22.5 Michelin XZE Include Pickup/Delivery/Mount/Dismount, Michelin only	2	Each	MICHELIN	67042		1	\$623.70	\$1,247.40
38676	Tires, New, Michelin, 7DD		Tire, New, Traction 11R22.5 Michelin XDE Include Pickup/Delivery/Mount/Dismount, Michelin only	2	Each	MICHELIN	74441		1	\$655.70	\$1,311.40
38706	Tires, New, Michelin, 7DD		Rim Reconditioning/Pick up/Sand blast/prime/repaint black/new valve stem installed/deliver	20	Each	N/A		WR101	1	\$41.00	\$820.00

\$3,378.80

Pat's Tire Service, Inc.

Item#	Category	Product Code	Item Specification	Quantity	Unit	Manufacturer	Manufacturer #	Vendor Item #	Package Size	Price Bid	Extension
38675	Tires, New, Michelin, 7DD		Tire, New, Steer 11R22.5 Michelin XZE Include Pickup/Delivery/Mount/Dismount, Michelin only	2	Each					\$623.70	\$1,247.40
38676	Tires, New, Michelin, 7DD		Tire, New, Traction 11R22.5 Michelin XDE Include Pickup/Delivery/Mount/Dismount, Michelin only	2	Each					\$655.70	\$1,311.40
38706	Tires, New, Michelin, 7DD		Rim Reconditioning/Pick up/Sand blast/prime/repaint black/new valve stem installed/deliver	20	Each	pats			1	\$30.00	\$600.00

\$3,158.80

Pat's Tire Service, Inc.

Item#	Category	Product Code	Item Specification	Quantity	Unit	Manufacturer	Manufacturer #	Vendor Item#	Package Size	Price Bid	Extension
38652	Tires, Recaps, Goodyear only 7DD	254-337-410	Tire, Recap, Drive 225/70R19.5 - G622, Include Pick- Up/delivery/Dismount/Mount	2	Each	goodyear			1	\$130.00	\$260.00
38653	Tires, Recaps, Goodyear only 7DD	254-886-410	Tire, Recap, Drive 255/70R22.5 - G622, Include Pick- Up/delivery/Dismount/Mount	8	Each	goodyear			1	\$170.00	\$1,360.00
38654	Tires, Recaps, Goodyear only 7DD	254-085-410	Tire, Recap, Drive 10R22.5 - G622, Include Pick- Up/delivery/Dismount/Mount	100	Each	goodyear			1	\$180.00	\$18,000.00
38655	Tires, Recaps, Goodyear only 7DD	254-086-410	Tire, Recap, Drive 11R22.5 - G622, Include Pick- Up/delivery/Dismount/Mount	80	Each	goodyear			1	\$185.00	\$14,800.00
38719	Tires, Recaps, Goodyear only 7DD		Rim Reconditioning/Pick up/Sand blast/prime/repaint black/new valve stem installed/deliver	190	Each	pats			1	\$30.00	\$5,700.00

\$40,120.00

Tallmadge Tire

Item#	Category	Product Code	Item Specification	Quantity	Unit	Manufacturer	Manufacturer #	Vendor Item#	Package Size	Price Bid	Extension
38652	Tires, Recaps, Goodyear only 7DD	254-337-410	Tire, Recap, Drive 225/70R19.5 - G622, Include Pick- Up/delivery/Dismount/Mount	2	Each	GOODYEAR	254337410		1	\$192.48	\$384.96
38653	Tires, Recaps, Goodyear only 7DD	254-886-410	Tire, Recap, Drive 255/70R22.5 - G622, Include Pick- Up/delivery/Dismount/Mount	8	Each	GOODYEAR	5254886410		1	\$214.05	\$1,712.40
38654	Tires, Recaps, Goodyear only 7DD	254-085-410	Tire, Recap, Drive 10R22.5 - G622, Include Pick- Up/delivery/Dismount/Mount	100	Each	GOODYEAR	254085410		1	\$217.91	\$21,791.00
38655	Tires, Recaps, Goodyear only 7DD	254-086-410	Tire, Recap, Drive 11R22.5 - G622, Include Pick- Up/delivery/Dismount/Mount	80	Each	GOODYEAR	254086410		1	\$239.89	\$19,191.20
38719	Tires, Recaps, Goodyear only 7DD		Rim Reconditioning/Pick up/Sand blast/prime/repaint black/new valve stem installed/deliver	190	Each	N/A		WR101	1	\$41.00	\$7,790.00

\$50,869.56

Parmenter, Inc.

Item#	Category	Product Code	Item Specification	Quantity	Unit	Manufacturer	Manufacturer #	Vendor Item#	Package Size	Price Bid	Extension
38652	Tires, Recaps, Goodyear only 7DD	254-337-410	Tire, Recap, Drive 225/70R19.5 - G622, Include Pick- Up/delivery/Dismount/Mount	2	Each					\$192.48	\$384.96
38653	Tires, Recaps, Goodyear only 7DD	254-886-410	Tire, Recap, Drive 255/70R22.5 - G622, Include Pick- Up/delivery/Dismount/Mount	8	Each					\$214.05	\$1,712.40
38654	Tires, Recaps, Goodyear only 7DD	254-085-410	Tire, Recap, Drive 10R22.5 - G622, Include Pick- Up/delivery/Dismount/Mount	100	Each					\$217.91	\$21,791.00
38655	Tires, Recaps, Goodyear only 7DD	254-086-410	Tire, Recap, Drive 11R22.5 - G622, Include Pick- Up/delivery/Dismount/Mount	80	Each					\$239.89	\$19,191.20
38719	Tires, Recaps, Goodyear only 7DD		Rim Reconditioning/Pick up/Sand blast/prime/repaint black/new valve stem installed/deliver	190	Each	prime rim recon	88116RCN	88116rcn	1	\$59.95	\$11,390.50

\$54,470.06

Tires IFB 23-08-001 Opens August 1, 2023 at 3:00 PM Category Summary - Tires, Recaps, Goodyear or Equivalent Contract Effective 10/01/2023 - 09/30/2024

Pat's Tire Service, Inc.

Item #	Category	Product Code	Item Specification	Quantity	Unit	Manufacture r	Manufactur er#	Vendor Item #	Package Size	Price Bid	Extension
38692	Tires, Recaps, Goodyear or Equivalent, 7DD		Tire, Recap, 10RX22.5, Include Pick-Up/Delivery/Dismount , Goodyear or Equivalent	10	Each	goodyear			1	\$134.00	\$1,340.00
38693	Tires, Recaps, Goodyear or Equivalent, 7DD		Tire, Recap, 11RX22.5, Include Pick-Up/Delivery/Dismount, Goodyear or Equivalent	12	Each	goodyear			1	\$139.00	\$1,668.00
38702	Tires, Recaps, Goodyear or Equivalent, 7DD		Tire, Recap, 225/70R19.5, Include Pick-Up/Delivery/Dismount, Goodyear or Equivalent	2	Each	goodyear			1	\$115.00	\$230.00
38703	Tires, Recaps, Goodyear or Equivalent, 7DD		Tire, Recap, 255/70R22.5, Include Pick-Up/Delivery, Goodyear or Equivalent	8	Each	goodyear			1	\$134.00	\$1,072.00
38717	Tires, Recaps, Goodyear or Equivalent, 7DD		Rim Reconditioning/Pick up/Sand blast/prime/repaint black/new valve stem installed/deliver	26	Each	pats			1	\$30.00	\$780.00

\$5,090.00

Parmenter, Inc.

Item#	Category	Product Code	Item Specification	Quantity	Unit	Manufacture r	Manufactur er#	Vendor Item #	Package Size	Price Bid	Extension
38692	Tires, Recaps, Goodyear or Equivalent, 7DD		Tire, Recap, 10RX22.5, Include Pick-Up/Delivery/Dismount , Goodyear or Equivalent	10	Each	DTS O.S. Drive	254-085999	254-085999	1	\$191.97	\$1,919.70
38693	Tires, Recaps, Goodyear or Equivalent, 7DD		Tire, Recap, 11RX22.5, Include Pick-Up/Delivery/Dismount, Goodyear or Equivalent	12	Each	DTS O.S. Drive	254-086999	254-086999	1	\$204.09	\$2,449.08
38702	Tires, Recaps, Goodyear or Equivalent, 7DD		Tire, Recap, 225/70R19.5, Include Pick-Up/Delivery/Dismount, Goodyear or Equivalent	2	Each	DTS O.S. Drive	254-337999	254-337999	1	\$174.76	\$349.52
38703	Tires, Recaps, Goodyear or Equivalent, 7DD		Tire, Recap, 255/70R22.5, Include Pick-Up/Delivery, Goodyear or Equivalent	8	Each	DTS O.S. Drive	254-886999	254-086999	1	\$191.97	\$1,535.76
38717	Tires, Recaps, Goodyear or Equivalent, 7DD		Rim Reconditioning/Pick up/Sand blast/prime/repaint black/new valve stem installed/deliver	26	Each	prime rim recon	88116RCN	88116rcn	1	\$59.95	\$1,558.70

\$7,812.76

Tallmadge Tire

Item #	Category	Product Code	Item Specification	Quantity	Unit	Manufacture	Manufactur	Vendor Item		Price Bid	Extension
						r	er#	#	Size		
38692	Tires, Recaps, Goodyear or Equivalent, 7DD		Tire, Recap, 10RX22.5, Include Pick-Up/Delivery/Dismount , Goodyear or Equivalent	10	Each	CONTINEN TAL	HDRI		1	\$205.00	\$2,050.00
38693	Tires, Recaps, Goodyear or Equivalent, 7DD		Tire, Recap, 11RX22.5, Include Pick-Up/Delivery/Dismount, Goodyear or Equivalent	12	Each	CONTINEN TAL	HDRI		1	\$240.00	\$2,880.00
38702	Tires, Recaps, Goodyear or Equivalent, 7DD		Tire, Recap, 225/70R19.5, Include Pick-Up/Delivery/Dismount, Goodyear or Equivalent	2	Each	CONTINEN TAL	HDRI		1	\$193.00	\$386.00
38703	Tires, Recaps, Goodyear or Equivalent, 7DD		Tire, Recap, 255/70R22.5, Include Pick-Up/Delivery, Goodyear or Equivalent	8	Each	CONTINEN TAL	HDRI		1	\$203.00	\$1,624.00
38717	Tires, Recaps, Goodyear or Equivalent, 7DD		Rim Reconditioning/Pick up/Sand blast/prime/repaint black/new valve stem installed/deliver	26	Each	N/A		WR101	1	\$41.00	\$1,066.00

\$8,006.00